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Choose the correct set of taxonomic words belong to the given statements

I) Taxonomic category showing individual organisms with fundamental simillarities

) Taxonomic category with same hierarchial status

a) Dicotyledonae
d) Insecta

g) Manumalia

b) domestica c) indica
e) Mangifera f) sapiens
h) Monocotyledonae 1) valgare
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Assertion (A) : Organisms of Monera having pseudomurein in cellwalls are producers of
biogas
Reason(R):  Archaebacteria present in the gut of ruminants animals produce methane
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Choose the correct statement
I)  Like fossil plants Pongamia produce petrol due to the presence of hydrocarbons

) A:zolla, Nostoc and Anabaena help in recycling of nutrients by saprophytic mode of
nutrition

II) Chorella 1s a single cell protein

IV) Branch of Botany deals with the study of different tissues and internal details of plant
organs 1s Morphology
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Choose correct pair from the following

D
D

Primary producers
Specific water requirement for
fertilization of Pteridophytes

II) Growth of young embryo in female
gametophyte
IV) Colonization of mosses and
Lichens on rocks
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Important step in evolution
Restricted to narrow geographical
regions

Food cycle of aquatic animals

Ecological significance
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Choose the correct matches
ListA List B ListC

A)  Viscum I) Mangrove 1)  Sucker
B) Banana ) Partial parasite i1) Rhizome
C) Zingiber II) Vegetative propagation i11) Pneumatophores
D) Rhizophora IV) Lateral branches iv) Haustarial roots
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Choose incorrect statements

I)  Trap leaves supply nitrogen to Nepenthes plant

II) Grape vines differ from watermelon by having tendrils developed from axillary bud
II) Balancing roots of Eichornia arise from horizontally growing lateral branches

IV) Gall flowers of Ficus store eggs of Blastophaga

& 1fod TS B85 TrEgoso Hgothdn

) SoodFos @éﬁdﬁ:dﬁ:g_ SP=Ad THhdEres J8Hor Brow

) E8S° Sddien YHRwEH dHomr BS5H ool Sood dGyds on

1] :E@c@* Hodheso =287 Bdg D&roddor AR 53‘6{25-3‘3: BSood Dd&i&}ﬁ“m
IV) &S0 md Yo’ ardidnr Ddd dormidgod

Options:

| LOLIV

IT. I

-2

LILIIT

, LILIV

Question Number : 7 Question Id : 1874634967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the respective formula of the gynoecium from which fruits like Berry. Pepo.
Hesperedium and Pome are developed
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Features which are highly unique to angiosperms

I)  Multicellular, much reduced and dependent gametophyte

II) Siphanogamous fertilization

II) Fusion of male gametes with egg cell and secondary nucleuns
IV) Development of ovule into seed
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An apple showing monosporic type of embryosac development assumed to develop a fruit
with 12 seeds. Find out the No. of chromosomes present in megaspore mother cell.
functional megaspores. egg cells. synergids. antipodals. zygote and PEN
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Assertion (A) : Cleistogamous flowers produce assured seed set in the absence of
pollinators

Reason (R) : Cleistogamy 1s mmvariably an Autogamy
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Choose the correct set of plants showing the following features

A) Medicmally important plant and a tendrillar climber with unisexual flowers

B) Spice yielding plant with cymose inflorescence. persistant calyx. unilocular ovary
C)  Oil seed plant with monadelphous stamens. unilocular ovary and indehiscent pod
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Select the incorrect statements from the following

I) Inplasmamembrane hydrophilic polar heads of lipids arrange towards the outside and
the hydrophobic tail towards the imnnerside

o) In plasmamembrane peripheral proteins lie on the surface of membrane while the
mtegrated proteins are buried in the membrane

II) Neutral solutes may move across the membrane by the process of simple diffusion
against the concentration gradient

IV) Polar molecules can pass through the non-polar lipid bilayer and do not require a
carrier proteins
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Arrange the following in ascending order based on the aspects given below
a) No. of arms present in chromosome where the centromere is terminal
b)  Total No. of histone proteins present inside the nucleosome

¢)  No. of histone proteins help to seal the DNA near the core

d) No. of H2 proteins in a micleosome
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Choose the correct statement

I) Secondary metabolites donot have identifiable physiological processes in plants,
fungal and microbial cells

) Bio macromolecules are acid insoluble organic compounds with mol wt more than
10.000 daltons

II) Undyhlc acid and cytidylic acids are derived from uracil and cytosine by esterification

IV) Lecithin and lectin are phospholipids found in cell membrane
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Arrange the following events of mitotic cell cycle in series

a) Reformation of nucleolus. golgi complex and ER

b)  Amount of DNA per cell doubles

c) Disappearance of golgi complex and ER

d) Condensation of chromatin into chromosome

e)  Distribution of mitochondria and plastids to daughter cells
f)  Seperation of chromatids at centromere
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In prophase I of meiosis. synaptonemal complex is formed between
I)  Pamr of homologous chromosomes

II) Tetrad of chromatids

II) Bivalent chromosomes

IV) Recombination modules of non sister chromatids
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In primary structure of protein. the protein thread showed helix with four amino acids
S - C -Y - E and a napthalene structure in aminoacid Y. In such condition what will be
the direction of helix and what are the positions of amino acids
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From left to right Serine - Cystein - Tyrosine - Glutamic acid
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From right to left Serine - Tyrosine - Glutamic acid - Cystein
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From left to right Glutamic acid - Tyrosine - Cystein - Serine
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From right to left Cystein - Glutamic acid - Tyrosine - Serine
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Choose the correct statements

A)  Incucurbits. phloem is present on either side of xylem and separated by cambium
B) Impermeability of water in epidermis is due to subrin deposition

C) Parenchymatous conjunctive tissue is present between protophloem and metapholem
D) More stomata present on abaxial side than adaxial side in a dorsiventral leaf
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Reasons responsible for leaf roll in monocot leaf

I)  Turgad nature of bulliform cells under water stress

) Flaccid state of bulliform cells under water stress

II) More water absorption by bulliform cells during stress

IV) More water loss in bulliform cells during water stress
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Reason for extensive distribution of monocotyledons plants like wheat. maize and barley
on the earth’s surface are

I)  Equal distribution of water and air in the habitat
) Adaptation to excessive water and extensive dryness
II) Do notshow adaptation to extensive dryness

IV) Grow in excessive water and extensive dry areas
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Arrange the given events that occur in phleom for removal of water from phloem to xylem
I) Incomung sugars are actively transported out and removed as complex carbohydrate
) Increase of water potential

II) Increase of hydrastatic pressure in seive tubes

IV) Transport of water in to sieve tubes by osmosis
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Mention the No. of given physiological activities of plant have been essentially controlled
by Zinc. Boron. Sulphur and Calcium respectively

a) Synthesis of auxin b) Photolysis of H,O

c) Methionine constituant d)  Stability of protein

e) Uptake of calcium f)  Regulation of metabolic activities
g)  Pollen germination h)  Cell elongation

1)  Cell differentiation
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Respective products released along with main product in biochemical reactions catalysed
by given enzymes

A)  Glutamine synthetase I) NADH+H"

B) Fructose 1. 6 bisphosphatase I ADP+Pi

C) Hexokinase ) Inorganic phosphate
D) Malate dehydrogenase IV) ADP
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Assertion (A): During photophosphorylation protons are transported across the membrane
and accumulated mside the lumen

Reason (R):  To develop proton gradient Pheophytin transfers electrons to hydrogen
carriers instead of electron carries
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Number of given forms of phosphate 1ons released during the synthesis of 10 glucose
molecules in calvin cycle in series

a)  Inorganic phosphate b) H,PO, c) ADP
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Arrange the given reactions occur in electron transport in correct sequence
I) Oxygen — Removes H,from ETS  — Receives electrons form ETS

o) Ubiquinone — Oxidized fromubiquinol — Receives reduced equivalents
from FADH,

M) CytCoxidase — Reduced by cytochrome C — Electron donor for O, to release

H,O
IV) Cytochrome C — Mobaile carrier — Transter e~ from cytb to cyt ¢
oxidase
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Formation of interfascicular cambium and cork cambium from parenchyma is
phenomenon of
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Observe the given set of physiological activities regulated by different plant growth
regulators and list out no. of activities promoted by Auxins. Cytokinin Gibberllin and Ethylene
respectively

a) Xylem differentiation b) Improvement of shape of apple
¢) Hastening the apple ripening d) Delay of senescence
e) Promote nutrient mobilization f)  Lateral and adventitious shoot growth

g) Root growth and root hair formation h) Increase of root absorption surface
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2)0os 80N 2RO Prdo W Wigw dopgdo HEHIT Beosysn
Q) ooy IBE55 b) @S Hotk wsdH
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c) w0 Joro IS Edido Bodnk d) ToEEd) sodgo Dobdhn

e) Fise Jaorer [wowoido f) >EpEsod DHkde,
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Options:
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Question Number : 29 Question Id : 1874634989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Find out the correct combination based on the methods of genetic material exchange occur
in Bacteria

A) F plasmud passes from donor cell Retaimment of the copy of genetic
to recipient cell material by the donor

B) Uptake of naked DNA fragments Acquiring new characters by the
from the surrounding environment recipient cell

C) Production of genetically identical cells Transformation

D) Transfer of genetic material through Transduction
bacteriophages

e:ﬂa%ﬂmm S e 20000 Jdocie EIfche wrdom & Bob TS 0G0 ndo
B0 800

A) Fi;ﬁ'-?oé& T &bmo o0& Hord oré oot a:ﬁ:gﬁﬁ"g@ aEen
et 200 o 082008

B) &erddeo Sood i) DNA poderod Herdgmo §8 oferod o
ﬁséﬂu&h

C) =dogrdrdgd SOAS Bl Ddﬂd}ﬁh palainlataTel

D) erfodrard oo adoghmy =6 2dogRrdo

Options:

7 A.B.C

2 AB,D

3 B.C.D

4 A, D

Question Number : 30 Question Id : 1874634990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the mismatch Bacteria in the given list

& Bod TIST JOSrHI wr§oair
Options:
Xanthomonas or Yzae

roFArTw 20 Z
1.



Xanthomonos oxanopodis pv citri

O AT €8) I FEY PV DL

2

Agrobacterium tumefacience

eerg0cho dugad DAY
3

Bdellovibrio bacteriovorius

BSDDAr erbOrIOH
4 '

Question Number : 31 Question Id : 1874634991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A round seeded tall pea plant is crossed with round seeded dwarf plant and obtained progeny
are with following phenotypes

3 - Tall. Round

3 - Dwart. Rounded
1 - Tall. Wrinkled

1 - Dwarf, Wrinkled

Do Dol Géd T DEIS 2od I HoEd IdgTodd T >
2oed 0088 JogBwo DY, & Joddmo Jod GES Lods GyTgdrren & §od
Qo &ob

3 - >&, oo

el

3 - 24, oo
1 - &, oodaden
1 - 28, Snddw

Find he genotypes of the parent plants involved in the above cross

) woEl00s” JARFHOLS =8 B&Jgaﬁ a&gdﬁﬁ“m B0 maad

Options:
, TTRR x ttRR

, TtRR x ttRR



; TtRR = tiRr

, TtRr = ttRy

Question Number : 32 Question Id : 1874634992 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct statement

I)  Alleles are unable to blend with other

II) Alleles are units of mmheritance and are slightley differ from the same genes
I) Mendels laws did not provide any proof for the existance of genes

IV) Genes are independent pairs seggregate independent of each other

& Eob TrRS” HBGS FTEgen fohds

D odorfy J8omyen wETRE Wil Ndsosd

) odoff) Jfomes widods Pireres FRIFE Sgergdres SOAS adogen

) Joods drEren 2dogdo 88 How0hos Jtwdoll erorey trhoddsiFairaw
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Options:
, LILIV

LILIO

L-2

LHOL IV

, ILIV.II

Question Number : 33 Question Id : 1874634993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

There are 1998 bases in RNA that codes 666 amino acids and the base position at 901 is

deleted such that the length of the RNA becomes 1997 bases. The number of codons
altered are

1998 Ji@g= sTorew §§39ﬁ- ENA 666 &B&S@f)ﬂ:ﬂ& §'& ﬁ“ﬂjurﬁ. 901 & :i‘l‘ﬁ;c‘.’}ué*" :éjc'f}l
FoS0 SoidronsPds RNA 269 1997 $8ad Fooor Hob. & JBS* Srdns
@*3’:&5 Sard

Options:



[
-2
faa
-2

366

4 333

Question Number : 34 Question Id : 1874634994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A student grew virus in three different media containing P¥2. $*° and DN Aase seperately

and allow these virus to attack to E.Coli. The series of observation made by the students are
as follows

a) P labeled phage particles were produced in E. Coli

b) S* containing phage paticles were produced E. Coli

c)  Phage particles were not observed in E.Coli

d)  P32was not observed in phage particles produced by E.Coli
e)  S* was not observed in phage particles produced by E.Coli

28 dogd PP 8P 5H0ain DNase oo 585 D88 cird¥od” 30Res Dod, & o0
E.Coli ¢ SoEoIBET®D. ey & @@riod” dorgd 08 S0iodes SIgom
tEodIm ol

a) 5TS PLBend Tohwdd FE IoJeoo e

b) ¢.6TS 8P Bend Dohwsd F& Imoden IGES 0w

c) ¢.ETS FE TenPew 2HEY

d) .§TS* 05588 FE ToHos P2 sokk

e) VS $05BS FE BmwHhost S soddd

The correct observations are

w8 wowd HHIw e

Options:
, a.b.c

5 s d.e



Question Number : 35 Question Id : 1874634995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Expression of gene regulation results in

a&gégﬁédm QokoBe POS
Options:
Development and differentiation of embrvo into adult

Dodo ©PBB IBESo Tod | FELIT Srd&dod

Cummulative impact on metabolic. physiological and environmetal conditions
£5c%, 08 SOydEch T KT D Dodd Pardo sl
Formation of polypeptides

FOTDRE IHEE 0w

Synthesis of set of operator and repressor proteins

wS0LE Hockw BRAd @b Soflotaddd

Question Number : 36 Question Id : 1874634996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of genes for protein mvolved in plasmid replication rop codes. Ori. restriction
sites. Antibiotic resistance genes present in E.Coli. cloning vector pBR322 1s

5T a0f T&do pBR322 &° 5 H8EBE sBodS o6 Hodses, O BRES
©OTen, wotiwciri§ JATEE adgde L8

Options:
| 1:1:5:1

P T 8
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Question Number : 37 Question Id : 1874634997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following Lists
List-1
A)  Ampicillin resistance
B) Transfer (DNA through infection
C) Disruption of fungal cell wall
D) Insertion of IDNA in the coding
segence of enzyme

& 1Bob ?.‘:.wégge_uéﬁz LTI PATe PR B
Hae -1

n

A) @odHOS JESES

B) %8 SoEdom dorsos” tDNA &
08TV HIFind

C) 2008 Eea¥dddn EbhotheLd

D) 1DNA JoBiwe adigdosdod s
TR0 T E0

The correct answer 1s

DOGY DEFTH0

Options:

1.

A B € D

B I ¥ 1

EEEE

V)

V)

List-T11
Chitinase
Insertional inactivation

Selectable marker
Chimeric DNA

Disarmed pathogen vector
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Question Number : 38 Question Id : 1874634998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : cry 1s insect group specific gene of cotfton
Reason (R) : c1v IAc and e7v II4D control the cotton boll worms
QS0 (A): cry @d0sd §LE dmr Q2 Sre (B8 ), 205N
srdein (R): cry Ldc 5560330 cry [I4h ©indd (B85 chde 08 Hdodieds
Qodso@dron
Options:

(A) 1s correct (R) 1s correct (R) 1s correct explanation to (A)

(A) 568058 (R) $853058 (R) w088 (A) & H0G0S B8
1.

(A) 1s correct (R) 1s correct. (R) is not correct explanation to (A)

L (A) 505036 (R) $0G036 (R) @556 (A) & 20&0S dBde 560

(A) 1s correct (R) 1s false
; (A) 305056 (R) 305088 s

(A) 1s false (R) 1s correct
3 (A) 565086 5760 (R) $585058

Question Number : 39 Question Id : 1874634999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct combinatoins

I)  Pusa swarnim-Brassica-White rust resistance
) Pusa gaurav-Brassica-Fruit borer resistance
II) Pusa Sawani-Bhindi-Fruit borer resistance
IV) Pusasadabahar-Clhilli-Leaf curl resistance

& B0l TC° J0FTed FOSwn Mfothidn
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Options:
| LILII

LILIV

L-2

; LIOLIV
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Question Number : 40 Question Id : 1874635000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The set of commercial and industrial products of non bacterial origin
863 dd JrfgHe Hod &8 Tohwds Thdag DO FOFNE GEHIT)L

Options:
Citric acid. acetic acid. lipase

DIEIE wiosy, JNEIE wioin, S8
L = o -
Citric acid. acetic acid. butyric acid

| D5 esiion, JDEE essgin, egtss essysn



Ethanol. citric acid. cyclosporin-A

g Ao, VIS sdidn, PEINOS-A

Statin. acetic acid. ethanol

@5&35* JoBE whin, agTren
4, :

Zoology
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 1874635001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) 1 Sub species shows minor variations from parent population

Reason (R):  Sub species is reproductively isolated population of a species
o (A) GOTBST BPoo B8 TS FS PRI SJGTgO0 DodbothFodrrown
gm0 (R) ES° P8 ISES TS 2T erdd Ghard

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 06050 (R) &0 Bodsr $8G0SD 508050 (R) w3d (A) K H0G38 D56

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) D8osn (R) eo Sodr 386030 570 (R) 038 (A) 8 S00d Qe 5760

]

(A) 1s correct but (R) 1s not correct

(A) 586358 59 (R) $0056 58
3. T =

(A) 1s not correct but (R) is correct

(A) 583058 5& 59 (R) 565058
4.

Question Number : 42 Question Id : 1874635002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Skeletal muscle fibre is in syncytial state
Reason (R): It is formed by fusion of cells

Do (A): @”ﬁéuéd Sod) Deonchd %@d*‘ otnod
%m0 (R): ©d $wrod SobIFNdo Ju I\ EE0s

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 58050 (R) 0 Bodr HOGHSH $00asn (R) w3d (A) & H863% 56

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) ododn (R) en Boder 285080 572 (R) w3d (A) & w0038 Dl 57

(A) 1s correct but (R) 1s not correct

(A) 5853058 52 (R) $063058 &

(A) 1s not correct but (R) 1s correct

(A) 5663058 5% 5 (R) H6G0S58

Question Number : 43 Question Id : 1874635003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following statements

A) Compound epithelinum forms the lining of the larger pancreatic ducts as stratified
cuboidal epithelium

B) Cartilage 1s a vascular tissue surrounded by fibrous connective tissue sheath called
perichondrium

C)  Gap junctions in cardiac muscles permit electrical impulses to be conducted rapidly
D) Myelenated nerve fibres are found in grey matter of the central nervous system

Bod moTen wgahso Bodod

A) Doding &I8Y o B, E T SN0 Sord) wibod J0E STl
G oE¥T tolnod
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Among the above. identify incorrect statements
2 wored' JHOMSI woren Miood
Options:
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L2

, B.C

4 B.D

Question Number : 44 Question Id : 1874635004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following
List-1 List-1II

A) Trichimella I) Xiphisura
B) Trocophore M) Turbellana
C) Tomaria IM) Porifera
D) Trnlobite IV) Polychaeta

V) Hemichordata

Bod T8I 2dSidodk

e -1 erdear - 11
A) @ide ) 20
B) §g5°8'3°6 ) Do
C) oo ) &0
D) BSo'8E IV) &odtr

V) Trdosgir

The correct answer is
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Question Number : 45 Question Id : 1874635005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Study the following statements

A)  Corallium rubrum is the precious red stone coral that belongs to Scyphozoa
B) Renette gland 1s an excretory gland found in round worms

C)  Tubifex 1s an aquatic annelid

D) Inchilopods, maxillae are modified into grathochilarum

Bod woTen wigohdo Hokod

A) §Fordabo DD vl B E&ﬁﬁamﬁn Todd DI Y e ParEo
B) B3 H0d Kool e’ Dsgssahdo

C) drgdDé) ol €D ol sodd eI06

D) 3&JGod" zodfw Srdroddo Dol ISTS0oMN DTS00

Among the above, the incorrect statements are
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Options:
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Question Number : 46 Question Id : 1874635006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the following organism with Jocobson’s organs. paired hemipenis and 12 pairs of
cranial nerves

BESIS wicharo, of 2d LI, 12 2de §Fo b do DI HEohSW

Options:
Tropidonotus

| @DE B



Trionvx

(£a3rDE)

L2

Chameleon

o airw

Bungarius

VOO0

Question Number : 47 Question Id : 1874635007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following table

Group Feature Example
A Cvclostomata Renal portal system is absent Branchiostoma
B Reptilia Megalecithal and cleidoic eggs Tropidonotus
5 Aves Corpora quadrigemina Psittacula
D Amphibia Collumella auris in middle ear Rhacophorus

Bod JLEH H0ID0T0d
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Identify the correct combinations
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Options:
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Question Number : 48 Question Id : 1874635008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following about types of flagella
List-1 List-1I

A) Paranema

B) Chilomonas

C) Astasia

D) Uiceolus

Lateral appendages and terminal filament absent
Two rows of lateral appendages and terminal filament
Lateral appendages absent and terminal filament is present

Two rows of lateral appendages

s2g8®

One row of lateral appendages

ETgras Dods foh T8 =addvod

eder -1 ade -1
A) Dordsr D g0 yres, wosgdodl S0
B) F&'drao ) Tod SIS FRAT e, wodidoddsy) Goiran
C) epaalr ) &g Ao peren Gody), Bodgbody) Gotnod
D) egaaros IV) Bod S63¢; >y AoTpEaren Golrow
I o o]
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The correct answer 1s

DOGS DBFTHH

Options:
A @ © O
IV I I I

@ ® © O



@4 @B © O

Question Number : 49 Question Id : 1874635009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the following substances interferes with the transport of dopamine

Bod _5..«.}5“&",55&1 &CS"C‘@&:@*‘ w88 o3 s a’f‘“égu D208 08008
Options:
Morphine

u“i}“ﬂﬂ\jﬁ

Heroin

OO @

Cocaine

&35

Ganjai

4 oo

Question Number : 50 Question Id : 1874635010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) 1 Entamoeba histolytica 1s a monogenic parasite,

Reason (R):  Itis infected by contaminated food.

Qo (A): Jodoadoer FPOIs 2l I5EFn STHED.
sdmo (R): 28 FoEE wFEo TLT JoEIod

Options:



Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) DBosw (R) o0 Sodr 206608 Sobain (R) u36 (A) & 20638 500

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 8csn (R) ev Toder 585080 50 (R) @36 (A) 8 205508 J5dm 570

L-2

(A) 1s correct but (R) 1s not correct

(A) 566358 5 (R) 5083058 5°

(A) 1s not correct but (R) 1s correct

(A) 503058 5 5% (R) HOGSH
4,

Question Number : 51 Question Id : 1874635011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coelozoic parasite with syncitial epidermis. pseudocoelom and rhabditiform larva during
development.
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Options:
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Question Number : 52 Question Id : 1874635012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements about drugs

A) Consumption of crack in low doses causes hallucinations.

B) Amphetamines cause sleeplessness.

C) Diacetylmorphine slows down the body functions.

D) Morphine is extracted from pod of poppy plant and it is a depressant.

ArfEBargos Bobd Bod wores H00oHodk

A) 855 Ireds §F INErHLD @edd TEn5g60d
B) wsoabooyen Jioden

C) BI85 ﬁ?ﬂ&@ F08udgodn I 00sBl0b
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From above. identify the incorrect statements
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Options:
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Question Number : 53 Question Id : 1874635013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In cockroach. thermoreceptor sensillae are present on

i

S°G08S”® GYTTE DAeres BV Golrown
Options:
Mazxillary palps. labial palps and antennae
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Labrm. maxillary and labial palps

e

205 0bchy & ﬁgcr?un—-'w

First three segments of the tarsi of legs
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Question Number : 54 Question Id : 1874635014 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Match the following

A)
B)
)
D)

Bod

A)
B)
C)
D)

List-1

Urate cells
Utriculi majores
Utriculi breviores

Phallomeres

TR edaNidkod
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The correct answer 1s

20D SIFT BB

Options:
(A)

I
L.

B) (©

I v

(D)

D
1)
I
V)

V)

SRR

V)

List-1II

Discharge uric acid during coputation
Nourishes the sperms

Storage excretion

Nitrogenous waste eliminated during moulting

Helps in copulation
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Question Number : 55 Question Id : 1874635015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is incorrect pair regarding cyclomorphosis in Dap/mia?

Bob THS FYalr & Q00T ke drddfchi Dob 050 add Hiodod.

Options:
Spring - Small helmet projection
JRVOBSVO - A9) )8 ool Dby
I ' -
Autunm - Helmet projection receds
FESyB - TS DHhibde diido
Sumimer - Round head attains maxium size
; SdIse0 - Mo do H0Q SO0 DHFotnod
Winter - Round shaped head
, 2T TR0 - foddl do

Question Number : 56 Question Id : 1874635016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : The population size of a species shows exponential growth

Reason (R):  Unlimited resources of the habitat favours such growth

Ao (A): 28 @ agyr H8dreo draros 5)8 Todded

sGwo (R): WaIH0es” wHbad SN ©gigd S0 & ::’.a!‘j% AT TR
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)
| (A) $0050 (R) o0 Todr $0GH5D 500 R) 630 (A) & $0g08 956

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) Bas®» (R) ev Bodsr 565080 57 (R) w38 (A) § 30538 JHdee 570

L-2

(A) 1s correct but (R) is not correct

(A) 38058 5 (R) $0G058 5

(A) 1s not correct but (R) 1s correct

(A) 5683558 525 5% (R) 05038

Question Number : 57 Question Id : 1874635017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Study the following statements and identify the incorrect one

Bod woren wigohdo VY VWMDY T MYodod
Options:
Connective tissue layers extend beyond the muscle to form sheet like aponeurosis
Sodrad fwwre Joren §0doW) Tl Féioded Sofurodl JIFIr SRt
Dd&&@:w
I

Non-myelinated axons are commonly found in white matter of central nervous system

DOS Frd So@sTen FTHOmT SoETd HgS% SwE), By ﬁmgu@“ S odIrow
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Volkman s canals interconnect the Haversian canals

G fiogen TH0ghe Siogod Soadaron
3. =%

A group of cell bodies in the central nervous system 1s called nucleus

Sogad ﬁgé“ﬁ@ Eaddfe HSnodird) Sogso wolrd
4

Question Number : 58 Question Id : 1874635018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Gause’s competitive exclusion principle states that the two species cannot co-exist
indefinitely and the competitively superior species will eventually eliminate the other
species

Which of the following statements are correct regarding validity of the Gause’s principle.
A) Ifresources are limited

B) If two species occupy different niches

C) Ifresource partifioning takes place between two species

D) If two species occupy identical niche

o Piddco DodFanoy dr@o WEEo Jod rdien o fidom ddodso DT .
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Read the following data carefully

Parameter Values
Initial population of lions 400
Number of new births in one year 100
Number of deaths in one year 40

Imagine the lion population grows logistically where the carrying capacity is 800. Then the
per capita birth rate (b). per capita death rate (d). intrinsic rate of natural increase (r).
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: : ; ; 2 5 . dN :
increase or decrease in population during unit time period P are respectively
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Which of the following factors favour the right side shift of oxygen dissociation curve

Bod a8eS® dsdsre s¥mon ﬂ%a:f& ABrzd Tp BEIIH ﬁ%ﬁé Doddiod

Options:



High PO,. high H™ ions, low Pco,
©8% PO,. w88 H m¢s, 8595 PCO,

Low PO,. high PCO,. lugh pH
&89 %5 PO,, whE PCO,y, &8 pH

L2

High PCO,. high temperature. low pH
D435 PCO,. wBE GAES, 359,35 pH

High PO,. low pH. low temperature

©B¥ PO, #8595 pH, 8895 &
4
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Study the following forms of transport of respiratory gases
A) CO, as bicarbonates

B) O, through plasma

C) (€O, as carbamino compounds

D) O, throughRBC

E) CO,;indissolved state

FTRTGBNI ST Srdross Bobd fod woFar H080otok
A) CO,- B sEReSenrr

B) &&) oo O,

C) CO,y- 5gBT Jodri Sargoorm

D) 0O;,- J¢ &8 oo Tgor

E) CO,- o= %ﬁ@*

Arrange the above in sequence in ascending order based on their percentages.
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Identify A. B. C and D 1 the following graph regarding nerve impulse transmission.

Th PSS HAoIE Dowodod od Ths* A, B, C. Dok Hhiokob.
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Assertion (A) : Increased blood pressure in the heart acts as counter check on RAAS
(Renin-Angiotensin-Aldosterone-System)

Reason (R):  Right Atrium releases Atrial Natriuretic Factor (ANF)

Aggo (A): o8BS DOAS GEVEN0 BAIS - BoRBr BYS - ST QT RINISES
Sg&08or DT
8o (R): S8508 B0t FBdin0Els sl Do Do
Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) p8osw (R) oo Sodr $8&0:5D Hobain (R) @36 (A) S 206308 5w
1.
Both (A) and (R) are correct but (R) is not the correct explanation of (A)
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(A) 1s correct but (R) 1s not correct

(A) 286058 2 (R) 20G30:88 58
3

(A) 1s not correct but (R) 1s correct

, (A)63:58 5 50 (R) 50836
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Study the following table

Part of Nephron Location |Function
A Malpighian body Cortex Filtering blood
B Proximal convoluted tubule | Cortex Absorption of usetul substances
€ Distal convoluted tubule Medulla Absorption of urea
D Collecting duct Only Cortex|Collection of urine
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Identify the correct combinations among the above
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Study the following

A)  Blood coagulation is also called haemolysis

B) Blood clotting is a change in plasma

C) Serum does not contain clotting factors like prothrombin and fibrinog
D) Proconvertin is involved in extrinsic pathway

Bod @oTen ©iigoiso Slevelels

A) 8 08T TIFTR @) SrE wotrd

B) &85 08850 30 Ids” 200 Srdn
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Among the above identify the incorrect statement(s)
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Options:
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In mammals quadrate is modified as

ST ed® Poowne &AM Srroddo Bodod
Options:
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| Brdogo
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Question Number : 67 Question Id : 1874635027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Arrange the following in a sequence from edge to centre in a sarcomere
A) M-line B) Z-line C) H-zone D) I-band

S08d obS0S” af wod Hod Dl §od WO ermrods S8 ShdEhes’
wBotod

A) M3wm B) Z3dw C) H-%vodeo D) I-8&

Options:
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Match the following about immune system

List-1 List-1II
A) Complement proteins I) Stimulate phagocytosis
B) Tccells II) Microgleain brain
C) Cytokines II) Inflammation
D) Mononuclear phagocytes IV) Membrane attack complex
V) Cell mediated mmumunity

&N 658 égf}“@{pﬁj RodS |0l T8I 28DGTod
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Study the following statements about hormones
A) Thyroxine and cortisol stimulate erythropoiesis
B) Oxytocm and progesterone are identical in function regarding mamtanance of pregnancy

C) Aldosterone and atrial natriuritic peptide are antogonestic regarding renal reabsorption
of Na

D) Lutemnizing hormone is a cholesterol derivative

FEpoof Fodd 50b vorod HIdodod
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From the above. identify the correct statements
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Human papilloma virus causes

Bod TES* Frgion PUTHr I0S FONRG
Options:
Genital herpes
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Hepatitis-B

Traddo-B

Fe

Syphilis
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3 DD

Cervical cancer
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Question Number : 71 Question Id : 1874635031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Study the following table

Glands Location Function
A Bartholin glands | Sides of vaginal opening Lubricate vaginal passage
B Skene’s glands | Beneath the urinary bladder | Lubricate vaginal passage
& Prostate gland | Around prostatic urethra Activate sperms and provide
nutrition for them
D Cowpers glands | Above the prostate gland Neutralises the urethra
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Study the following special techniques
A)  Artificial insemination

B) Lactational amenorrhea

C) Zygote intrafallopian transfer

D) Intracytoplasmic sperm injection

E) Veginalring

Bol ©HBgE JH08BESwR H0RDOBOG

A)  Eyed DE VFdheo

B) Q&*-ﬁgd&’} S anddgo shFsdo

C) FSochs Terodd Docsngdes 2269
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E) &rd Secso

From the above. choose which could assist the couple to have children
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Choose the correct genotypes of parents, who have 50% of their progeny with B blood
group

50% Hogd B Igdord) 5000 $doihe SO0 anogdrarocd ol o8 Juob Mool

Options:
121° Father - I21° Mother
10 dog - P10 89

1. ’

11 Father - I°I° Mother

Pt o - IPI1°69

B Father - T2 Mother

, PP g0 - I'T° 82

1B Father - IPI° Mother
P S0 - IPI° 89
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Question Number : 74 Question Id : 1874635034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In X-linked recessive inheritance. males are more affected than females.

Reason (R):  Males are hemizygous to X-linked recessive alleles

LV
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(A) 1s correct but (R) 1s not correct

(A) 585058 50 (R) $0G0%58 58
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(A) 1s not correct but (R) 1s correct
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Study the following statements about the blood groups

A)  The genes for Rh antigen are located on somatic chromosome pair-1
B) Multiple alleles occupy different loci of homologous chromosomes
C) The expression of blood types in man 1s by 3 alleles of a single gene
D) Blood cells of the foetus are destroyed by Ig M type of antibodies

g§STrety Bobd Bod worwd H0Dotoh
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In a population of 1600 individuals. 570 have the genotype AA. 750 have Aa and remaining
280 have aa: find out the allelic frequency of allels A and a

1600 £Je0 fo aamere® AAadogdrdo 8952 570, Aagdid 750, aagds ondI3d 280.
& adgrd” A a cdnfjdfoy IFIPYTgod s od

Options:
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Question Number : 77 Question Id : 1874635037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Natural selection i1s considered as the driving force of evolution
Reason (R): It favours all genetic changes that occur in organisms

Qo (A): L850 D0S” PEBIwod Todiir SOABRD

580 (R): 28 £PHod® I8 ed) adghrdnos (P Tred

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
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(A) 1s not correct but (R) 1s correct
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The molecule detected in direct ELISA is

-

DEgE ELISAeS® h80d0aBb
Options:
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Match the following

A)
B)
C)
D)

o

A)
B)
C)
D)

List-1

Prolonged P-R Interval
Prolonged Q-T Interval
QRS complex variations
Tall T-wave
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The correct answer 1s
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List-1I

Bundle branch block
Hypokalemia
Bradycardia
Hyperkalemia
Myocardial infraction
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Study the following statements regarding stem cells

A) Dendritic cells originate from both myeloid and lymphoid stem cells directly
B) Embryonic stem cells are pluripotent

C) Red bone marrow stem cells are omnipotent

D) Granulocyte-Monocyte progenitor stem cells produce neutrophils

sodbmre Hiod Bod woToid wdgobido Dadod
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From the above. identify the incorrect statement(s)
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If P. Q. R and S denote energy. mass. angular momentum and gravitational constant
52

respectively. the quantity has the dimensions of

PR
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From the top of a tower of height *H °. abody is thrown vertically upwards with a speed ‘u’.
Time taken by the body to reach the ground is ‘3" times the time taken by it to reach the
highest point in its path. Then. the speed uis

‘H’ & o o8 2pdo 2 Dod e SIHQ ‘1" 568" LI 28 0o, w9 rdod
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Question Number : 83 Question Id : 1874635043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A particle moves m X-Y plane with constant acceleration “a’ and is directed along the negative
Y-axis. The equation of motion of the particle has the form Y = px — qx?. where ‘p’and ‘q
are positive constants. The velocity of the particle at the origin is

2.8 Bmo X-Y deidooes® %5&5‘56&?;.; ‘a’ & SOFob. wbd o Y-wlo BT &0d. Smo vod
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A particle moving in a gravity free space along horizontal with a velocity 1 ms™! is subjected
to an acceleration (2:14— 43) ms . Then the vertical distance covered by the particle by the

time 1t covers a horizontal distance 6 m 1s

L ms™! 3508 HHEGrS ©B0S* §8a dSrosor Shwdy) S0 (2i+4j)ms?
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Options:
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Question Number : 85 Question Id : 1874635045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A block of mass 100 kg attached to a massless rope and the second end of the rope 1s pulled
up by 2 men along a rough inclined plane of coefficient of friction 0.2 inclined at 37° with
the horizontal. If they exert their maximum force for the block to just start moving up. the
force exerted by each of them is.

(Acceleration due to gravity = 10 ms—=. Tan37°=0.75)

882 Sdrodolg 37° 'm0 Bcﬂmzﬁjéﬁi o€ Nk Jesdeo {@gmﬁ:gaéu 0.2) 2 100k
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Question Number : 86 Question Id : 1874635046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Two blocks of masses ‘m”and ‘2m’ connected by a massless string move along concentric
horizontal circles on a horizontal frictionless table with O’ as fixed point as shown in the
figure. If “T" 1s the period of motion, the tension in the longer part of the string 1s

(Neglect the dimensions of the blocks when compared with the lengths of the string).
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Question Number : 87 Question Id : 1874635047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A string of length 1 m 1s fixed at its one end and a body 1s attached to the other end of the
string. The body oscillates along an arc of a circle in a vertical plane. If the breaking strength
of the string is twice the weight of the body. then the maximum distance covered by the
body in one oscillation 1s
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One end of a compressed spring of spring constant 5x10° Nm! is fixed to a wall and a
block of mass 0.5 kg 1s kept in contact with the other end of the spring. If the spring 1s
suddenly released. the block moves with a momentum 10 Ns, Then the compression of the

Spring is
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Awheel of radius ‘1’ rolls without slipping with a speed ‘v’ on a horizontal road. When it 1s
at a point ‘A’ on the road a small bob of the mud separates from wheel at the highest point
and touches the point ‘B’ on the road as shown in the figure, Then AB is

(g - acceleration due to gravity)
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A uniform rod of mass 0.5 kg and length 0.5 m 1s suspended at its ends by means of two
light inextensible strings so that the rod is horizontal. If one of the strings is cut. then the
angular acceleration of the rod is

(Acceleration due to gravity = 10 ms™2)
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Two blocks of masses m; = 1 kg and m, = 2 kg are connected by a spring of spring constant
24 Nm™! and is placed on a horizontal frictionless surface. The block m; is imparted an
initial velocity 12 em s~! which produces maximum compression in the spring towards m,.
The amplitude of oscillation 1s
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A planet is revolving round the sun of mass ‘M’ in an elliptical orbit with semi-major axis
‘a’. The speed of the planet when it is at a distance ‘r’ from the sun is. (G - Universal

gravitational constant)
M (B5g078 fo Wrdogd whiar &8 (iraw ‘a’ Horsiw Mo 5%&3@?&' EE5e” DOFNA.
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Auniform cylindrical rod of length ‘L’ . area of cross-section ‘A’ and Young’s modulus ‘Y’
is acted upon by the forces as shown in the figure. The elongation of the rod 1s
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A U-tube open at both the ends is partially filled with a liquid (A) of density 950 kgm™.
Another liquid (B) of density 820 kgm™ is poured into one of the arms and it forms a
colunn of length 10 cm as shown in the figure. If the arm into which liquid B is poured is
shielded from any air motion. the speed with which air should be blown across the top of
the other arm till the levels of the two liquids are at same height in ms! is

(Density of air is 1.3 kgm™. Acceleration due to gravity = 9.8 ms )
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A 15 kW drilling machine is used to drill a bore in a small aluminium block of mass 10 kg.
Assuming 50% power 1s used up in heating the machine itself or lost to the surroundings.
then the rise in temperature of the block mn 2 minutes is

(Specific heat capacity of aluminium = 0.91 J g1 °C1)
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Earth receives Sun’s radiation at the rate of ‘P” Wm~. Mean distance between the Sun and
the Earth 1s ‘r’ m. Radius of the Sun is *“R"m. If Stefan’s constant 1s ¢ (in ST units). surface
temperature of the Sun. in kelvin, 1s
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: . i {1 .
A Carnot heat engine having an efficiency of 0 1s used as a refrigerator between the same

two temperatures. If the work done on the system is 10 J. the amount of heat absorbed from
the reservoir at low temperature is
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Heat is flowing from a refrigerator whose inside temperature 1s 280 K. to a room at 300 K.
Then the amount of heat delivered to the room for each joule of electrical energy consumed
in joules is

S99 &S 280 Kife o8 28088 aho@o 5008 o 300K 54 Ko KBS ©HH0HB.
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rd
The temperature at which the r.m.s. velocity of oxygen molecules will be (Ej of rm.s.

velocity of hydrogen molecules at —3 °C is
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Assertion (A) : Doppler effect is assymmetric in sound.

Reason (R) : Insound. apparent change in frequency depends on the method of inducing
relative motion.

Ao (A)  : GS° TH6 Derddn wIrdssn
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A stretched wire vibrates with a frequency of 60 Hz when the tension in the wire 1s T; and
with a frequency of 130 Hz when the tension in the wire is T,. If the tension in the wire 1s
(T1+T5). its frequency of vibration 1s

28 KOS B, BRS' 3558 Ty eHHyd 60 Hz 26:985508" odidgod. SKS* 8558
Trwondsyd 85 130 Hz 5:95508° S0binod. BKS* 3558 (T1+1,) wond, HK B0E,
0% FB:YBg0

Options:
i 143 Hz

153 Hz

-2

164 Hz

Lsd



173 Hz

Question Number : 102 Question Id : 1874635062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A point source of light 1s placed at the bottom of a water lake. If the area of the illuminated
circle on the surface is equal to three times the square of the depth of the lake. refractive
index of water in the lake is
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A beam of light falls on a system of 4 polaroids, which are arranged in succession. such that
the axis of each polaroid makes 30° with the axis of the preceding one. The fraction of the
intensity of the incident light that passes through the system 1s
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. o ar” i
A non-uniformly charged sphere has charge density given by p= w where ‘a’ 1s a constant.

‘r” 1s the distance from the centre and ‘R’ 1s the radius of the sphere. Then the total charge
inside the sphere is proportional to

: v ar’
el @d2008 wRIE Yo uIJd Fod p=?. 2y.E ‘a’ goroso, ‘R e agrdo
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Three identical charges each of magnitude 3 pC are placed at the corners of a right angled
triangle ABC whose base BC and height BA are 3 cm and 4 cm respectively. Forces on the
charge at right angled comer B due to charges at A and C are F; and F, respectively. The
angle between their resultant force and F, 1s

2858 3 PC B05r=0 Mo Baorid DO wiTed ¥ vonto Bheo ABC Gw),
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In the given circuit. one of the 3 UF capacitors has 600 uJ of energy. Then the potential
difference across 2UF capacitor is
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Two concentric spherical conducting shells of radi1 ‘R’ and ‘2R’ carry charges ‘Q’ and
‘2Q" respectively. Change in electric potential on the outer shell when both are connected

1

4J'I:Eﬂ
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If the balancing length in a potentiometer experiment changes by 10% when the cell of
unknown emf is shunted by 6 L2 resistance. then the internal resistance of the cell in £ 15
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An electric cable has just one copper wire of radius 8 mum and resistance 10 €. This single
copper wire cable 1s replaced by 4 different well insulated copper wires each of radus
6 mm. then total resistance of the cable 1s
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A 1 m long thin metal bar of negligible resistance weighing 1 kg rests on two metal
supports as shown in the figure. The supports are connected in series to an ideal cell and a
resistance. A uniform magnetic field 0.5 T 1s applied in the region normal to the plane of
the paper and into the paper. Maximum emf that the cell can have without breaking the
circuit in volt 1s

(Acceleration due to gravity = 10 ms—)
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When a proton of charge ‘e’ and mass ‘m’ is released from rest in a room. it starts to move
with iitial uniform acceleration ag towards West. When 1t is projected towards North with
a speed v, it moves with an mitial acceleration 3a; towards West. The electric and magnetic
fields in the room are respectively
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Two short bar magnets of moments 512 Am?® and 1000 Am? are placed coaxially 18 cm
apart. The magnetic field 1s zero at a point Q between them. The field at Q. when one of the
magnets is reversed pole to pole is
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A 10 H inductor carries a current of 20 A. If the energy stored in this inductor melts ice at
0 °C. then the mass of the ice melted is [Latent heat of ice = 2.26x10° T kg1]

10 H (5385880 Ko (HE50S® 20 A Dg8 0508, & (Hfed® deg Soshnds 9§ 0 °C
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In an LC circuit connected to an ac supply. the resonant frequency is 200 MHz when a
dielectric of thickness 8 mum and dielectric constant 6 is fully inserted between the plates
of the capacitor. The resonant frequency becomes 198 MHz when a stress of 995 bar 1s
applied between the plates of the capacitor. The Young’s modulus of the dielectric material
in Nm 2 is nearly
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The amplitude of electric field of a plane electromagnetic wave propagating along Z-axis is
4Vm!. It varies with time. The average energy density of the magnetic field in Jm™ is

£q=8.854x10712 CIN" 1 2
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The de Broglie wavelength of a particle moving with a velocity ‘v’ is equal to that of a
photon. Ratio between kinetic energy of the particle and energy of the photon is (speed of
light in vacuum = c)
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Hydrogen atom in its ground state 1s excited by a monochromatic light of energy 13.06 eV.
The longest wavelength among the spectral lines 1s

(Tonization energy of hydrogen atom 1s 13.6 eV)
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The half life period of palladium 1s 4 days. After 16 days. if its mass becomes 2 mg. then its
initial mass 1s

Drdoio Gng) uf 238 sTuc 4 Fwen. 16 Fwe dud T |B55078 2 mg wondd,
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Match the following List-I with List-1T

A)
B)
&)
D)

Bod

A)
B)
C)
D)

List-1

Transistor amplifier
Transistor switch
Zener diode

Fermi level

rdar-]l & he-Il & =

s -1

ErayRd Sgso
CraRG wdd (Red)
B0 ERrG

hvf}éff?;ux

The correct answer 1s

BOFS JBFTBB
Options:
A B € D
. I n m IV
A B € D
< II I m IV
A B € D
; I I IV I
A B C D
, I I N I

Question Number : 120 Question Id : 1874635080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

&

a9

Swod

288°

CRCRCI

Single Line Question Option : No Option Orientation : Vertical

List-1I

Active region
Cut-off region
Voltage regulator

Average energy of charge carries
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If the maximum and the minimum amplitudes of an amplitude modulated wave are 25 V and
5 V respectively. then the modulation index 1is
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If the wave number of first spectral line of Lyman series of He" is X cm™. then the wave

number of second line of Balmer series of hydrogen atom in cm™ is
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The kinetic energy of photoelectrons emitted when the metal M is irradiated with light of
frequency 1.6 » 1019 Hz is twice the kinetic energy of photoelectrons. when the same
metal is irradiated with light of frequency 1.0 » 1019 Hz. What is the work function of the

metal M in J?
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In second period of the long form of periodic table. identify the pair of elements which
have exceptionally high ionisation enthalpies than expected
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Identify the correct pair of molecules i1 which central atom of each has same number of
lone pair of electrons but with different shapes
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The bond order values in the anions of barium peroxide and potassium super oxide are
respectively
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Atwhat temperature (in K). the most probable velocity of ozone gas is equal to RMS velocity
of oxygen gas at t°C?

ry S (K e5%) 5 5,80 J°0%08 (f0a dogrags ai%o, 1°C ¢ sz ording RMS
FTRE DBrS0?
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Single Line Question Option : No Option Orientation : Vertical

The coefficients x. v and = in the given redox reaction are respectively
2D B8 Se-§abEdn WIFSTA XL ¥, Z omsren SE0m

xCr02 +yS0,+zH" = Cr” +S07 +H,0

Options:

32,2

. 1.3.2



Question Number : 128 Question Id : 1874635088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct set of infensive properties from the following

Bod F8e5* HErSPomen o H0GR D8I Bothdw

Options:
Enthalpy. Temperature. Heat capacity
O E@J* ﬁr%@'r‘ﬁ* ﬁr%@“dm

Internal energy. Enthalpy. Volume

wosbEES, Juﬁ*@w\,, amnddreo

=]

Density. Temperature. Molar heat capacity

FoBd, GaId, Jrord Gurde

Pressure. Mass. Volume

i

&S0, (B0gT™e, WaHbHTR0

Question Number : 129 Question Id : 1874635089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If K. (Solubility product) of Ni(OH), is 2.0 = 107, what is the molar solubility of
Ni(OH), in 0.01M NaOH?

Ni(OH), @»§, K (@rssbahe ogo) 2.0 1075 wowd, 0.01M NaOH $H0goes*
Ni(OH), 2rerd [@ddohd Jod?

Options:

| 20 % 10083 M

2.0 x 107°14M

2



5 2:0% 10712 M

2.0 1071 M
4.

Question Number : 130 Question Id : 1874635090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At T(K). for the gaseous reaction
2A=B+C. K¢ is2 x 1073,

at a given time the composition of reaction mixture is [A]=[B] =[C] = 3.0 » 10~*M. the
state of the reaction 1s

T(K) 58 2A = B+Cod sraiwsdgh K dend 2 x 107 adys ssoos® €4
oot [A]=[B]=[C]=3.0 x 10*Mewss, & &85 G0, 36

G
£
Ch
[
g
[=1§
Ef\
C

Options:
proceeds in forward direction

[E T HEFS® 28080

proceeds in backward direction

&5 ma 8dS® adihd

L2

in equilibrium state
LB EE oo
direction can not be predicted

¥ SSroudin

I

Question Number : 131 Question Id : 1874635091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

5.0 mL of X volume hydrogen peroxide solution on decomposition produces 100 mL of
oxygen at STP. The value of X is

5.0 mL X $o83088rwo ri@as org)d ([@dne I@BrHo Dobdyd STP 54
100 mL es8y20 &&8 wondd. X Jeod

Options:



10

Question Number : 132 Question Id : 1874635092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On strong heating. the nitrate of which metal does not produce nitrogen dioxide?

D STY IBED e IGTVSHD JW'aS B ¥HE AGYEE?

Options:
l. K

Li

k-2

Ba

4 PD

Question Number : 133 Question Id : 1874635093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with respect to orthoboric acid from the following.
I) Itisaweak tribasic acid

M) TIthasalayer structure in which planar BO; units are joined by hydrogen bonds
) With water it forms [B(OH), |~

) It is not obtained by the hydrolysis of diborane

Bob T8S” wGE 08 wiiot Jowofod BOTS Frgpgods Hothin.

) =20 8 voss ©5d e

M) &8 Foo AT ok, TS’ Bbde BO;chrdin TiE s 2ofed’ Sod Gotraw
) 2&6° a6 [B(OH),] S Soytuos

IV) RS0 zeodihmo B2 GV FodBidw

Options:



I&ID

&I

o]

IT &I

I&IV

Question Number : 134 Question Id : 1874635094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the incorrect statement from the following

Bod T8ES” JeT Tgpgio Mgotiidos

Options:
PbCl, is more stable than PbCl,

PbCl, &) PbCL, 363056

Ge[’lz 1s more stable than GeC’l4

GeCl, 85 GeCl, 253058

CCl, does not undergo hydrolysis

C‘Cl4au Qﬁﬁmu TRodsdn

3

S1Cl, on hydrolysis gives silicic acid

SiCl, 2od3d8mo Boh 2OE whod 2wty
4

Question Number : 135 Question Id : 1874635095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements from the following

I) Chemical Oxygen Demand (COD) of water is determuned by oxidising organic
substances with acidified K,Cr,0,

I) High concentration of CO, leads to stiffness of flower buds
I) NO, is alung irritant

IV) Photochemical smog is also called reducing smog.

Bod T8S” 0GRS JSTmenn ok

D S sdand soges edgd K,Cn,0,8 sfigine 35 S8 sanis
siEe edddo (CODR dgaodnd

) 68 méss” &od CO,Jrodnioss 185608308

) NO, &=H08&e 5°5%0 (1rritant)

IV) 508 drdbd i Sourddm i el Sem wolrd

Options:
, LI

B 11
3 LIV

, ILIO

Question Number : 136 Question Id : 1874635096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In the Kjeldahl's method of estimation of nitrogen. ammonia gas evolved from 0.3 g of an

1
organic compound was absorbed m 60 mL of EM' sulphuric acid. The unused acid

N
required 40 mL of 10 NaOH for complete neutralisation. The weight percentage of nitrogen

in the organic compound is

e ddanod Brd SG8ST, 0.3 g o BGHS Do Sood) JeoddS LIyl

1
Ty 60 mL HosH8drmo o EM éw&gﬂi @%u@* oo Bodod. IS elaty

N
w0 Grom SLHESHo Boserds 40 mL. = NaOH e 55558 &08. §6)8 $agos™

Options:
| 45.33

3733

L-2

$47.33

(W]

, 57.33

Question Number : 137 Question Id : 1874635097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The species. which i1s not aromatic is

Bod o, IE°5r8E TIO I6?

Options:

1.

J

a



s,
@

Question Number : 138 Question Id : 1874635098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ethyne on passing through red hot iron tube at 873 K gives a cyclic compound X. In this
reaction the number of -bonds lost and number of 6-bonds formed are respectively

&B55% STIK 58 P 508 38 assigo Gro Hod X ed Seockh sandso Dykes.
& ':565@5 ?@Eﬁ& T-20fTe Sopg, ;36‘:53 0 - 2070 dopgen SHSM

Options:
1. 3.3

Question Number : 139 Question Id : 1874635099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following

A)
B)
C)
D)

Bod

A)
B)
C)
D)

List-1

Metallic solid
Covalent solid
Molecular solid

Tonic solid

The correct answer 1s

BEGLS BErTH0

Options:

A

1‘#’."

[

Question Number : 140 Question Id : 1874635100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

BE £ D
I m IV
B € D
I I V
B € D
HE I 1
B € D
vV 1 I

szg8=

8B 8 <

V)

Single Line Question Option : No Option Orientation : Vertical

List-1I

Carbon tetrachloride
Calcium fluoride
Copper

Silicon carbide
Glass

aHae - 11
5‘*6335 5@1@5
5°90i0 @E&



At T(K). which one of the following pairs of solutions is isotonic?

T(K) 54, $0b 8s° 2 moby @ hred ol QE?

Options:
0.1M vrea. 0.2M magnesium chloride

0.1M ctar8esr, 0.2M Bofifaaho §8E
1.

0.1M urea. 0.1M sodium chloride
0.1M odardadr, 0.1M >&cio @5

"

2

0.1M potassium chloride. 0. 1M sodium sulphate

0.1M &réracioo §86, 0.1M &F&oo ééq}&.’i
3 i

0.1M calcium nitrate, 0. 1M sodium sulphate

0.1M sf'e'ildd.’uu E@ﬂéﬁ_ 0.1M 2F&oss0 Eﬁ&"ﬂ)éﬁ'
4.

Question Number : 141 Question Id : 1874635101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mass of sucrose in grams (molar mass of sucrose is 342 g mol™) required to be
dissolved in 100 g of water. in order to produce a solution with 104.74°C as the
difference between the boiling point and freezing point is
= 1.86K kg mol™! and K0y = 0-51K ke mol1)

{Kfﬁhﬂ} i
a}“ﬁzz&zﬁﬁé a?;:ém D008 DS FE{;A’}G-&: S0gg B 104.74°C r ffe o8 |7 od) Soirdiichm s
100 e ABS® EdRoEHods DEE Bigoe rives® (DE'E Irad Bogos = 342 g mol ™).
(95 K, =1.86K kg mol™, K, = 0.51 K kg mol™)

Options:

i 68.4

136.8

-2

;1023



34.1

Question Number : 142 Question Id : 1874635102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements is not correct?

Bod JSDS® & J0GHSE TE?

Options:

Rate of a zero order reaction 1s independent of initial concentration of the reactant

RN (Baros ::5653&.33 Bodradso @rdoy MESD Lot

Half-life period of a first order reaction is independent of initial concentration of the
reactant

BB [Baoros Uy wTolny) 5o, Eolradso oy mEdn BEdneds

o]

i . ¥ e T
The unit of second order rate constant is mol2 -1 51

Bedad (Eidorof oy ol wUrogo chrdd mol? L1 g1

The molecularity of a reaction cannot be zero or a fraction

g @end o)™ BT DKo ™ Godtrds dend

Question Number : 143 Question 1d : 1874635103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The standard free energy change for the cell reaction

: 2 2 :
ZH(.E} o Cﬂ(;gJ — an:c;}} + CH[;S}I is

Bod Poboddgiu (L _'c'n:ggr:ﬁt; 48 Dordoy

2+
(ae)

2+

—3 ZHL,M]

anj) + Cu + Cu{m}

i i o — B . ‘ -
(EEHLEH =-—0.76VF" . Emg_fm =+0.34FV . 1F =96500 C mol™)

Options:



+212.3 kI mol™!
~212.3 kJ mol™?
; +106.2 kJ mol™?

—106.2kJ mol!

Question Number : 144 Question Id : 1874635104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following

I) Protective power of a lyophobic colloid is expressed by gold number

I[) Haemoglobin is a positively charged sol

II) Metal sols are prepared by peptization process

IV) Colloidal solution and true solution can be distinguished by Tyndall effect

Bol 78" H0GEN Qd%mosy fagowatn

) oBrIFdS Faond GwE, H00ES Serard) iy dopgd Sg8o Ve

) Z3rAdS uf §o3¢ &6

M) &5 Fdod Dasimo T°0° SArdBdRd

V) Fgond @der), Jz@ldery) Hiodirds Hoad H0e°Q) G HBriad
Options:

| O&IV

[&IT

L2

J I&IV

M&IV

Question Number : 145 Question Id : 1874635105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



From the Ellingham diagram given below. identify the correct statements

I) Below 673K CO can reduce FeO to Fe

II) Above 673K Coke can reduce FeO to Fe

II) COis the strong reducing agent for the reduction of ZnO to Zn above 1073K than coke

IV) Coke reducs ZnO to Zn readily at 1673K

Bod asmdd 0005 HLo Swod JOEE Typgos Dowidw

) 673K &an) 8598 eaiid 58 CO. FeO & Femr saorsboduid

8

673K a0 D @RS 5¢ &6, FeO & Fe m Koarsbowhi
) 1073K&m) D &6 58 ZnO Zom §arsbodios® CO,EE §om) momd §asss
IV) 1673K $¢ &', ZnO & Znm oo oarEdows:

O 2Zn+0, —2Zn0

@) 2Fe+0, —2FeO

CHO, — Co,
@
|
) | | ©
AG®/kJ mol™* | '
of Dl : :
| |
| |
673K : : 1073K
I
e — 1673K
Options:
, LILIO
, LILTV
5 TEEY only
5 L. ITT only

Question Number : 146 Question Id : 1874635106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following statements are correct for hydrides of 16® group elements?

I) Boiling point is highest for water and lowest for hydrogen sulphide

) Bond dissociation enthalpy 1s highest for water and lowest for hydrogen sulphide
I) Reducing property increases from H,S to H,Te

IV) A;H (Enthalpy of formation) is more negative for H,O and more positive for H,Te

i 16 Swrose E“Ecééa Sowofod Bod Tgpgue” 2D HOGHI?

D erieds Fdo JE Moo, TGS $8)E5H E3g0

) w0 b Jogrd) ABE foGo, TE=S $B)E% %0

) gohsdm o HyS S0 H,Te o Dt

IV) AH (S08de Jogrdy) H,0 % wbs derdyo, HyTe o 08 dod o

Options:
1 I. IT only

ILILOLIV
, ILTILIV only

5 I.III. TV only

Question Number : 147 Question Id : 1874635107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Chlorine on reaction with excess of ammonia gives nitrogen gas along with a compound X.
Xreacts with Ca(OH), and gives Y, a colourless gas with pungent smell. Y on reaction with
excess of chlorine gives Z and HC1. What 1s Z7

§00 wdE olrRcirs’ ddyTod Jaa Toing, Xedh 3G0Fdosd quys. Ca(OH),
& X 585708, 508, wrds TSk Y auy. Y, ©b8 §658 $65T0s HCL
Z 0% Ry Z38?

Options:
NH,C1
l.

, NH;



. 'C'a[‘l2

, NCL,

Question Number : 148 Question Id : 1874635108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reaction which does not involve the formation of H ;PO; 15

808 O $855° H,PO, D667

Options:

CH,COOH +PCl, —
1.

C,H.OH+PCl, —
PClL,+H,0 -
3 .

POCI, + H,0 —

Question Number : 149 Question Id : 1874635109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following 1s the composition of Ziegler catalyst?
Bod T&S® & 248 ﬁLE‘Ew d80 Gog), Hododado?

Options:

l.
ZnCl, + Al(CH,),

Ti (CH,), + AlCI
. i( 3)4 3

TiCl, + Al (CH,),

Question Number : 150 Question 1d : 1874635110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A d-block metal M forms two complexes with the formulae MC1,. 2HCI and MC1,.2NH;,.
When excess of AgNO, solution is added to 1 mole of each complex. AgCl precipitate is
not formed. The secondary valency of metal M in the complexes is respectively

Me3 d-ep§ 60 MCL, 2HCL MCL.2NH; o §rderen fo Sok Sogois o)k,
1 306 (58 $0ITIE wHE AgNO, TS5d) §9D553% AgCl wSgbo 6)ES.

& dogres® Med oo Gwg), Bdah dodradd S

Options:

L 42

2.4

o]

;3 6.4

Question Number : 151 Question Id : 1874635111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The monomers used in the formation of Dacron are
I) Glycerol

II) Terephthalic acid

D) Adipicacid

IV) Ethane-1. 2-diol

Qs Dﬂgé&au@* INRFAoD 3}*5“5)&%
D 6d06

) &S eo

M) J&%8 edo

IV) &8s-1, 2-346

Options:

LI

LI

L2

; ILIV



IIV

Question Number : 152 Question Id : 1874635112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct statement about the denaturation of a protein is

IS eerd 0B Joododd JOIE JHd

Options:
1° and 2° structures of a protein are destroyed but 3° structure remains intact

1e8s, 1°, 2° QTsrods FOh@od 570 3° oo @erddo 5760

2° and 3° structures of a protein are destroyed but 1° structure remains mtact

e, 2°, 3° oot §'Shdob 50 1° domeo Prrado 5%

-2

1° and 3° structures of a protein are destroyed but 2° structure remains intact

88, 1°, 3° ATysrod FSHhEob 570 2° oo Herddo 5760

3.
1° and 4° structures of a protein are destroyed but 2° and 3° structures remain intact
S, 1°, 4° Qomrody FEN@ed 59 2° 3° Jonpren Perddo 579

4

Question Number : 153 Question Id : 1874635113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the incorrect match from the following

L4 !

Bod TES® JWOTI 28 wiothaw

Options:
Paracetamol - Non-addictive analgesic
Foobiard - GfoTrid SR JTEEDE
] =
Valium - Tranquillizer

SLILEEIY - (@roBad



Ofloxacin - bacteriostatic antibiotic

iz?g:s‘:jibﬁ - Srgid o A6 H0D dSrotiadd3ress
5

Novestrol - Antifertility drug

TIXS - AHTEE ool
4. & W

Question Number : 154 Question Id : 1874635114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identity X in the reaction given below

Bod Hdges” X & fogoado

' B /uv light
uv. 5rof

0N

i

Options:
O-N

O,N

Question Number : 155 Question Id : 1874635115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following alcohols i order of their increasing boiling points.
Pentan-1-ol  Butan-2-ol Butan-1-ol  Propan-1-ol Ethanol
I I il v Vv

Fod we)FFdodo 78 dodoib RSN 208 EHest 5330828300
wobin-146 arghs-2-4d arghs-1-48 (@Fae-l4S 28

I I I v Vv
Options:

| V<HOI<IV<II<I

NeslVeal=Hll=]

-2

; V<IV<II<I<I

, IV<V<II<I<II

Question Number : 156 Question Id : 1874635116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_ -
R-\ H draz:ém
ThEES -
C=o—=28 g KOMR . viN,

Ethvlene Glyeol
R'/ 28635 Es‘ej'

Identify Y in the above sequence of reactions

2 edEd Jogod” Y& Hgothdn

Options:
R-CH-0OH
|
1. R

L2



R'— t|':|‘ -0K"
O

R-CH,-R’
4,

Question Number : 157 Question Id : 1874635117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the reactions I and IT

COCH,
. KMnO,KOH | dilH,S50;
D [: i > Y
CH,
. B dilKMnO, .
) CH,=CH,— =547

Identify the polymer from the following in which Y and Z are the monomers.

L I &Sdgoid H8890hin
COCH,
. KMnO,/KOH  ~, ®20HS0, . +r
D @ LLLES ¢ 'Y
CH,
' " teoKMnO, |
M CH=CH,— 47

od 778" Y. Z en IrIT0dm o FOB555% ffohidn.
Options:

Terylene
, 8003

Glyptal

Hard

~ o B



Nylon 6. 6

; Jorw 6, 6

Novolac

, Pl

Question Number : 158 Question Id : 1874635118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : -OH group of phenol is ortho. para directing in electrophilic substitutions

Reason (R):  -OH group stabilises the arenium ion formed by the ortho. para attack of
the electrophile

Afddn (A): AoF288 REEdn oS Hord o), - OH Sk dn ., o QY EE 0
Tdmdw (R): u]ﬂ@;_ih@ BwE), @@;}. Fo Th Sod 26 bochd wasrid -OH
DBordrhn PIHE00

The correct answer 1s
BOGS BSrTHo
Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) 28ds® (R) 00 Dodr H0G05D Sebcin (R) @36 (A) S 5066308 Jihdm

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) S0csn (R) ev Todr 05030 577 (R) w3d (A) § 204508 Jhde 57

(A) 1s correct but (R) 1s not correct

(A) 585358 52 (R) $053058 5&

(A) 1s not correct but (R) 1s correct

(A) 5663058 5% 52 (R) HBGSE

Question Number : 159 Question Id : 1874635119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fehling's reagent 1s a mixture of two solutions of A and B. What are A. B?

2orO0f 57880 A.Bo Fdh @dmo. A, Bes 227

Options:
A B
[Ag (NH;), T Aqueous CuSO, solution
. +
[Ag(l‘ﬂ—lj }2] CuSO zoEamo
1
A B
Aqueous CuSO, solution Alkaline sodium potassium tartarate
CuSO, zo &m0 53¢ Fbobo Firacho Lrgoes
2
A B
NaOH,,y+1, DIN@NH—NHJ
Na OH(E o) =¥ :[2 NGZ
DZN@N H-NH,
NO
3 :
A B
Aqueous NaHCO,; solution Neutral FeCl, solution
NaHCO;zomHeo &éox FeCl,; @rdemo
&
4,

Question Number : 160 Question Id : 1874635120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Acid amide on reaction with reagent X' gives a priumary amine having one carbon less than
the anude. Identify X' from the following

el vl X ok 550k €8gTod wl e &895m e G_:SJE By g oty Qedxo.

X fod o8 oot lothdw

Options:



Br, .-'NaDH{ ) Goioh

NaOH/CaO. A

-2

KMnO, /KOH. A

Pd—BaSO,



